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AE£E(v)Jt 0.214 cm/sec € I &Ko AESE(Vs) 96. XIS 30cmel MotH2Z SIS AN HAH -

K30=6.6kg/cm®Y W X 75cm°| THSHRHS] X K| A4
A= J|E2H dX2HE CBT : www.comcbt.com
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K757
® 3.0kg/cm® @ 3.5kg/cm?®
® 4.0kg/cm® @ 4.5kg/cm®

97. IS & SA(EL)0 2oLl #& Xgt =HOl 2H42?
@ Xot+=< 20 254 FHEX B0l =St
@ Z2HE XEO 2 Kot ANESHUA 10mOl4ar LC}.
@ AEZ Xtez Xot=<I0F XIEHI JtALCH
@ AEZX PejXIEteZ Xetel X XI&E0| Aol =0

98. 01T AIZJF ZLS MEi0 Ao, &8t &

gE 2e?
(1 JS v )= @ AXUE
@ Zstuc @ >z
99. &2 CHAOA CHE OIUXIE SIHAIZIS OfE S50t M)
=12
@ 2= BHl=E SI6HD, 20 HAXUS = 2ASH
@ =X st:HIQ EO AXUETE= SIS
® =& S£Hls 246D .20 AXLEE=E =IO
@ =X SH|Q ZM HXLEE= 2ZHASHC
100. &9 oA T (consistency)lll &st CIS ¥ = X *2
A2?
D AAXN=E= HWHBHHLF AMESHHO N2 A EAIECH
@ Rsixs Rs342 JI27(0IC
@ ==StHE XNUANEZ =50 HEEHeE 2101 ES0I0
@ O™ Eo HIJ AHBHEL 0¥ 1 52 A4
AEH = HHAMEHN ACHD & == AL
| 6= : Adtr=BE
101. A A LMS H2 AIZ = U= 2ot0| ot X=2?
@ BZO =)} 225| Holole A2 XIS
@ 22U |82 IA StCt.
@ WEE HI S=32 JI)H0l & XIS
@ 2HEAXH X8 HEXIEHC.

102. XIot=2 X L2 d-ANB2ZRH F& 2SS
ol 2 % 0I5t o= A0l HHE RS

@ 60 ® 70
® 80 @ 90
103. 1S9 ASWE = YASN THM 2 JHs&0| IIE
=2 2127
[ JEpe= @ QEAS
@ OlMStEAAS @ RRIMAS
104. 0129 SH22X SYSUA SX A0l OHY M
YaS?
@ HEal =)y @ EZ =)y
® = omy @ =) =)y

9 sEIt 8%EH SEADY s=&E X2 RO=?
(&, £3X2 HS2 1.022 It3)

® 1,5004 ® 2,0004
® 2,500¢ @® 2,800¢
106. ol=SLX2E R+ BF BOD=1,800mg/l , HaR
=2,000m®/day, EJIZ MLVSS =2,500mg/4 ,=J| =2 £
=14,000m® & M F/MHI=?
[ 0.08 kg—-BOD/kg-MLVSS.day
@ 0.10 kg—-BOD/kg-MLVSS.day
@ 0.18 kg-BOD/kg-MLVSS.day
@ 0.21 kg-BOD/k§-MLVSS.day
107. 2403 =HHOA SHIS>EH AZ=s A2? (¢,
Pn=nd £ =& e+, Po=&81 27, n=81 ¥ =+, a,
b=24ts, k=302, =" HRSIIE)
@ Pn=Po+rn® @ Pn=Po(1+n)"
It
Bu= BT
® Pn=Po+nr @ Tt s
108. BHS-Zol AN 0l AOA FHH S22 Jhss & 20t
OlLHZ o= A0l EtESHr?
® 4.0kg/cm? @ 5.0kg/cm?
® 6.0kg/cm? @ 7.0kg/cm?
109. =& HAUA HEZS B AMStE 018E?
@ tH&EZ0l gadoez
® U&EZS 0l=20l0 HEACS EME =Hol)| |dtH
@ $AQAS M= HEEQ MZ0IEe=2
@ =228 2AI2I= MZ0I2=2
110. +=XFXNE &X6tHO o= 2 & Heldr o A2?
@ otE&19 S|ots&E0l 258t 20 & XISttt
@ ol=XelA0| XX 22 20| & XIS
@ olE XY B s30| =8t 0l EXIstCh
@ Y5229 KotsE0| =8 20 X8ttt
111, SEAIZLS B2 TS A7 (2, t YA, Lidte
ZHO 20, V:EURS)
L Vv
T=t,+— _ T=t;+—
o Y e e b
L N
T e = —_—
® =Y @ % L
112. 3 MEl= S2lAg SA0 O3S 22 M
1
= —= A
Q 360 C 2t 2to] L2 EB A2?
® Q : [m¥/sec] @ C: [=H9e8]
@ | 2 [mm/hr] @ A : [km?]
113. && 300mm, 20| 100m¢! =&22 AIE5I(
0.15m%/sec 22 20m =0/0 L5610 A8 BZO A

zZ HEE VIEEM EN2HE CBT

: www.comcbt.com
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RESa? (B,01E&4 A= f=0.0268, BHZ2 582
70% 0|1, Or&£4 1)

@ o 57HP(0H) O 2 62HP(0HA)

® 2F 72HP(0H) @ 2 81HP(0HA)

114, 2132 10/e MEQR=0| BODLR2YR5t FBHE 50g/2!-
20/ct & o o7 102 ZAIS St=HMelZ0l s
BOD =#35t=?

@ 5,000kg/L @ 500kg/
® 50kg/L @ 50ton/g
115. M*EAIQ_J HE S0l Ai01/vl EL 229 &

2, HE & D|2te HLZ DHE a;éE A2?
® 25504 @ 20~254
@ 10~154 @ 5~104
116. pH & =20 ({HE O Fa2azd SHIL =O0LXN=I1?
® oHI ¥ =200 =2 M
@ pHIt &1 =201 Y2 W
® pHII =1 =201 ¥2 W EXEME CBT PC HE : www.comcbt.com
@ pHIt &1 220 =2 @X_FE—I‘”@' CBT DHIY BHE @ m.comcbt.com
JIE2H L H&E& OSEE : www.comcbt.com/xe
17, TG 2D AF LRSSV HISS U 2 | ypowx cara
&7 Z0l 2HT0I Ol AHWOR 2HE 20 NS22 HE D
© HBYL @ TR AIZ DOIIA, 9F SE, AN M= 22 JBEH H5 T
@ 2ozuc 0 S=3- ZdoZ A AIEUA AI25t= OMR &4l2] CBTE HM3E&
_ gcuw& 2 DHiY WA o8 oS
118. =& 2m@l HAIZE H=+=20 =& 1m 20/ S22 JYLC}. DAIE/sHME 22JlsE M2ELIC
Manning2 Z&H 4= 0.0150112 222 HAJE 1/1000
2O =20 B2= R2? og ¥ QENI +3E A NES HES INEME CBT
@ 1.33m%sec ® 2.66m°/sec Ol EISHNIR
® 5.32m%/sec @ 6.22m%/sec
1 2134 |56 |7|8]|9]10
119. BIO R R0/ 0.2m%/sec0l12, {01 3m/sece! B Olelolele e @le| o
a sdvaE=? 1112|1314 15|16 17|18 19]20
@ 150mm @ 228mm lolololdle|ela|o|e@
® 292mm @ 367mm 212223 |24 (25|26 |27 |28 |29 |30
@ ®w ®| e o | ®|®
120. ot=2AHIF EH S Al(crown corrosion)0| &l =2 &9l 31132|133(34(35[36|37|38]|39]40
=387 @ 0|0 ® | ® @ 0| B®|®
0 =32 @ EAiotEs 41 142 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50O
@ Z&3E2 @ AAsE2 @OI®®@® O OO O @ @ ®
b1 |52 |53 |54 |55|56|57|58|59 |60
@®| e |B|®w | ®|@]|0
61|62 |63|64|65|66|67|68|69|70
DI ® BB ® o e 0O|l®
71\ 72|73 (747576 |77 |78]| 79|80
D@0 ®| o @] ®|0
811828384 |85|86|87|88|89 |90
@@ 0|0 |® @ ®|®
91192 193|194 |95|96 |97 |98 |99 [100
@B ®w ®w ®w o/’ |®
101(102[103|{104{105|106|107|108|109|110
@@ 0O®| @ 0|0 ®|®
111(112{113|{114{115{116|117|118]|119|120
ORICEICIIORIORIORICRICEECINO)
zd NHES JIE2H &XE2HE CBT : www.comcbt.com
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